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  الرابعالفصل 
  

  خواص الموائع الساكنة
  

  : الموائع
 

q ρ 

Denistyالکثافه 

للمادة الكثافة النسبية                           لمادةالمطلقة ل كثافةال  
  

  لمادةالمطلقة لكثافة : أولاً 
  

  : المطلقة كثافة المادة
 

  : الكثافةخصائص  
  
  

  
  

  :العوامل التي تتوقف عليها كثافة مادة  
 

 
ρ = 

m
V ol

fffffffff       kg/m3 
 

 
 

  

ρ 

T 
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  )الوزن النوعي للمادة( للمادة النسبيةكثافة ال:  اًثاني
 

  ) :ρre(الكثافة النسبية أو الوزن النوعي لمادة 


 
 

ρre = 
ρs

ρw

fffffff = 
ms

mw

ffffffffff 
ρsρwmsmw

 
 

  :هامة  ةملحوظ    
 
 

 
 

  ) ρre( كثافتها النسبية   ) ρ  Kg/m3( المطلقة كثافتها المـــــــادة
 21400 21.4 
 19300 19.3 
 13600 13.6 
 8600 8.6 
 7900 7.9 
  2700 2.7 

 1000 1 
 910 0.91 
 900 0.9 
 820 0.82 
 800 0.8 

 1.43 1.4310-3 
 1.29 1.2910-3 

 1.25 1.2510-3 
 0.09 0.0910-3 

 

  



  

  هافــــ
  :الاستدلال علي مدي شحن البطارية 








و لذلك يمكن الاستدلال علـي مـدي شـحن البطاريـة بقيـاس      
  .كثافة المحلول الإلكتروليتي في البطارية 

   :في الطب 

1040 Kg/m
 

  الحمـي الروماتيزميـة



 

 .تشخيص بعض الأمراض بقياس كثافة الدم أو كثافة البول 
  
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ــــات الکثــتطبیق
الاستدلال علي مدي شحن البطارية 


 



 


 

و لذلك يمكن الاستدلال علـي مـدي شـحن البطاريـة بقيـاس      
كثافة المحلول الإلكتروليتي في البطارية 

في الطب  تشخيص بعض الأمراض
 كثافة الدم

Kg/m3

1060 Kg/m



فقر الدمالأنيميا 

 كثافة البول

1020 Kg/m3


تشخيص بعض الأمراض بقياس كثافة الدم أو كثافة البول و لذلك يمكن 

 

الاستدلال علي مدي شحن البطارية )  ١( 
 


 




 


q       و لذلك يمكن الاستدلال علـي مـدي شـحن البطاريـة بقيـاس
كثافة المحلول الإلكتروليتي في البطارية 

تشخيص بعض الأمراض)  ٢( 
 كثافة الدم


1060 Kg/m3





 كثافة البول




q  و لذلك يمكن
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   Pressure (P)ه الضغط عند نقط
  

  : )P( لضغط عند نقطةا
 

 

P = 
F
A
fffff        N/m2 

N/m2–J/m3–Kg/m.s2::ط ط وحدات قياس الضغوحدات قياس الضغ  

  ::العوامل التي يتوقف عليها الضغط عند نقطة العوامل التي يتوقف عليها الضغط عند نقطة   
  
  
 

  :تعليلات هامة 
  .تصنع السكين ذات نصل حاد  .١

 
 

 .السيارات الخاصة  تتصنع إطارات سيارات النقل أعرض من إطارا .٢
           

        
 

 .تصنع قواعد السدود بحيث تكون أعرض من جسم السد نفسه  .٣
  

 
  .تصنع الإبرة ذات طرف مدبب  .٤


 

  .الحذاء العادي  يتر كعلي الرمال بينما لا  واضحاً ك الحذاء ذو الكعب أثراًتر ي .٥
   


 

 

P 

1
A
fffff  

P 

A 
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   P  استنتاج قانون الضغط عند نقطة في باطن سائل  
 ρ

Ah 
  

 Fg 
Fg = m.g = V. ρ.g = A.h. ρ.g       …… ( 1 ) 

 P 
F = P.A                                      …… ( 2 ) 

  
F = Fg 

∴ P.A = A.h. ρ.g 
 

∴   P = h. ρ.g 
 

  :الضغط عند نقطة في باطن سائل 


 

  ::العوامل التي يتوقف عليها الضغط عند نقطة في باطن سائل العوامل التي يتوقف عليها الضغط عند نقطة في باطن سائل   
 ρ 
 h 
 g 

  ::خواص الضغط في باطن سائل خواص الضغط في باطن سائل   
  
  
  

 

   P   الضغط الكلي عند نقطة في باطن سائل 
       

 
P = Pa + ρ g h 

 

h ρ 

A 

P 

h 
Slope = 

P
h
fffff = ρ g 

P 

h 

Pa 

Slope = 
P @ Pa

h
ffffffffffffffffffffff = ρ g 
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  :ملحوظات هامة 
 ρ g h

 
 





 

  
P1 = Pa + ρ1 g h1 
P2 = P1 + ρ2 g h2 
 P2 - P1 = ρ2 g h2 

∴  ΔP = ρ2 g h2 
 

  اتزان السوائل فی الأنابیب ذات الشعبتین
 

  تجربة تعيين كثافة سائل مجهولة بمعلومية كثافة سائل آخر لا يمتزج معه
 

 
  
  
 AB

h1h2 
  

A=B 
Pa + ρ2 g h2 = Pa + ρ1 g h1 

ρ2 g h2 = ρ1 g h1 

 ρ2 h2 = ρ1 h1 

 
ρ1

ρ2

ffffff = 
h2

h1

fffffff 
 

h1 
B A 

h2 

 

 

Pa Pa 

Pa 

P1 
h1 

h2 

ρ1 

ρ2 
P2 
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  :هــامة  اتملحوظ
 


 
 

 
 

 
  

 

  
ρ1

ρ2

ffffff = 
h2

h1

fffffff 

 
XX

h = 2 X 
 

 
 A1

X1A2
X2 = 

A1

A 2

ffffffff
 X1

h = X1 + X2 
 A2X1

A1X2 = 

A 2

A1

ffffffff
 X1

h = X1 + X2 

 Y
Z

X
X


h1 = 2X
h2 = ( Y-Z )+X 

h1 
h2 

 

 

 

A B 

Pa Pa 

B A 
2X 

X Y 

Z 

Y- Z 

h1 
h2 
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  Pa (  Atmospheric Pressure (الضغط الجوي 
  

  :الضغط الجوي 
    1 m2

   
 

  بارومتر تورشيللي الزئبقي لقياس الضغط الجوي
  ::فكرة عملة فكرة عملة   




 

  ::تركيبه تركيبه   


 

  ::عمله عمله   
 


76 cm 

 
فراغ تورشيللي 

 
76 cm 

  ::حساب الضغط الجوي حساب الضغط الجوي   
AB

BA 
 

AB∴ 
 

Pa = (ρ g h )Hg + 0                    

Pa = (ρ g h)Hg 

 

76 cm 

B 

Pa 

 
A 
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  :الضغط الجوي 
76 cm0.76 m

1 m20oC 
 

  ::حساب قيمة الضغط الجوي حساب قيمة الضغط الجوي   
0oC13595 Kg/m39.81 m/s2 

1 Pa = 13595  9.81  0.76 = 1.013105     N/m2 

  ::وحدات قياس الضغط الجوي وحدات قياس الضغط الجوي   
1. Pascal = N/m2 . 

∴  Pa = 1.013105  N/m2 (Pascal) 
2. Bar  105  N/m2 . 

∴  Pa = 1.013105  N/m2 =1.013 Bar   
3. Torr = 1 mm.Hg 

∴ Pa = 0.76 m.Hg = 76 cm.Hg = 0.76 mm.Hg (Torr) 
 

  التحويل بين وحدات قياس الضغططريقة 
 

 
 

  

  :ملحوظة هامة 
الضغط الجوي


 

cm.Hg 

m.Hg 

mm.Hg 
Torr 

× 102 × 10-2 

× 10 × 10-1 

N/m2 
Pascal 

Bar 

× 10-5 × 105 

÷ ( ρHg g ) 

× ( ρHg g ) 
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  :هامة  ةملحوظ


 76 cm.Hg 
76 cm 
76 cm 
 
 

 

  ومتر في قياس الارتفاعاتاستخدام البار
 

    h1    
P1 = ρHg g h1 

 h2
P2 = ρHg g h2 

 H1
P1 = ρair g H1 

 H2
P2 = ρair g H2  

  
Δ P = P2 – P1 

ρHg g h2 - ρHg g h1 = ρair g H2 - ρair g H1 
ρHg g ( h2 - h1 ) = ρair g ( H2 - H1 ) 

ρHg ( h2 - h1 ) = ρair ( Δ H ) 
 

Δ Hh2h1
 

  :تعليلات هامة 
  .دم الزئبق في صناعة البارومترات و لا يستخدم الماء يستخ .١




 
 .لا يتأثر ارتفاع الزئبق في الأنبوبة البارومترية بمساحة مقطع الأنبوبة  .٢


P = ρ g h 

h1 

h2 

H1 

H2 

ΔH 

 
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


13600 Kg/m3
810 Kg/m3

1000 Kg/m3 
  الحل

ρ1 h1 = ρ2 h2 + ρ3 h3 
1000  25 + h3 = 13600  25 + 810 h3 
25000 + 1000 h3 = 340000 + 810 h3 
1000 h3 – 810 h3 = 340000 – 25000 
190 h3 = 315000 

h3 = 
315000

190
fffffffffffffffffffffffffff = 1657.89 mm 


76 cm.Hg


1.25 Kg/m313600 Kg/m3
80 m 

  الحل
$   ρHg  h2 – h1  = ρair ΔH 
#  13600   0.76 – h1  = 1.25  80 

#  0.76 – h1 = 
1.25B80

13600
ffffffffffffffffffffffffffffffff = 7.3510-3 

#  h1 = 0.752 cm 

#0.75  cm.Hg 

 

50 cm
20 cm




1000 Kg/m3
13600 Kg/m3
10 m/s2 

  الحل
ΔP = ρ g h = 13600  10  0.2 

 = 2.72104 N/m2 





21 cm50 m


1030 Kg/m39.8 m/s2 
  الحل

F = P . A = ρ g h .  π r2  
F = 1030  9.8  50  3.14   0.21 2 
F = 0.6995105  N 

B A 25 mm 

 

 

 

 

  أمثلة محلولة علي الدرس
 

  
 
 
 
 
 
 
 
 
 
  

  

        

  

  

  

  

  

  

  

  

  

  
 
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 
  :تخير الإجابة الصحيحة من بين الأقواس  /الأولالسؤال 

 Kg m-3N m-1N m-2J m-2N m-3 

 Kg m-2 s-2Kg m s-2 Kg m-1 s-2Kg m s2 
 10-5761.013760–105 

   
––––

 

 –
 

             
––– 

      Pascal–Bar–Torr–
N/m3 

           1.013 Bar–
760 cm.Hg–0.76 m.Hg–105 Pascal1.013 

 ––– 

 10-5761.013760–105 

           
– 

 1051.0131.013–105–76–0.76 

  : ما معني أن  /السؤال الثاني
 13600 Kg/m3 
 8.6 
 2.7 
 103 N/m22 
 103 N1.3 
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 104 N/m25 
 105 Pa1.013 
 0.76 m.Hg 
 750 Torr 
 60 cm 

  : علل لما يأتي /السؤال الثالث
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

  :أذكر المصطلح العلمي لمفهوم العبارات التالية  /السؤال الرابع
  
  
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  
 

 
 Kg.m-1.s-2 
  
          

 
          

 
 

 
  
  76 cm1 m2

0oC 
 105 Pascal 

  : أذكر العوامل التي يتوقف عليها كل مما يأتي /السؤال الخامس

  
  
  
  
  

  :ما النتائج المترتبة علي كل مما يأتي / السؤال السادس
  
  
  
  
  
  
  
  
  



  

 
 

 
76 cm 

     

– 

 

 


h

  

P ( N/m2 ) 

h ( m ) 

A 
B 

 

 

h 

- 101 - 





76 cm

 
 

  :قارن بين كل من / السؤال السابع
    
 



  :أسئلة متنوعة / السؤال الثامن

 
ABC 


ρw = 1000 Kg/m3g = 9.8 m/s2
105 N/m2Pa = 1.013 

 



 

 
N/m2h

B , A 
 

 

 


 

 
 
 
 
 
 

السؤال السابع
  


 

السؤال الثامن

 





 
 
 



 



 
 

 



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 90 Kg60 Kg103 Kg/m3
 

0.667–667 Kg/m3–0.0899 m3 
 103 N/m215

8 m106 N3.0159 

    1000 cm2    
4000 N104 N4 

 60 Kg0.92 cm2
           

9.8 m/s2106 N/m26.4 

          
50 m

103 Kg/m305 N/m21.013
9.8 m/s2105 N/m24.9–105 N/m25.9 

    105 N/m23.039   
105 N/m21.0134 atm 

 100 m
        1000 Kg/m3

9.8 m/s2105 N/m29.8 
         

1030 Kg/m3 1000 cm2  
9.8 m/s2

105 N/m21.013105 N/m21.114–104 N1.114 
 40 m

80 cm
1030 Kg/m3g = 9.8 m/s2 

105 N/m24.0376–105 N2.03 
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 120 m
1030 Kg/m3105 N/m21.013

9.8 m/s2105 N/m213.1 

       350 KPa  
         980 Kg/m3

g = 9.8 m/s240.128 m 

    10 Km     210 mm.Hg
600 cm2

      760 mm.Hg  
13600 Kg/m39.8 m/s2103 N4.4 

12 atm 

       40 cm70 cm   

1000 Kg/m3    13600 Kg/m3    
9.8 m/s276 cm.Hg124 m–105 N3.4 

   1 m 0.2 m
     

1000 Kg/m313600 Kg/m3104 N3.64 
 1 atm

 3 atm   1000 kg/m3 
105 N/m21.0139.8 m/s220.67 m 

 2 cm24 cm2
0.5 cm 

13600 Kg/m31000 Kg/m320.4 cm 

         
 13600 Kg/m3    50 cm

1200 Kg/m350 cm
800 Kg/m3 

  
  

7.35 cm–100 cm 

50 cm 
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   U     
19 cm

1000 Kg/m3800 Kg/m323.75 cm 
      13600 Kg/m3 

 1230 Kg/m3 
3.69 cm0.5 cm

g = 10 m/s240.8 cm–39.4 N 

     U  2 cm2     9 cm3
3.6 cm


900 Kg/m310 3 Kg/m38 cm3 

    900 Kg/m3  
6 cm
   13.5 cm     

2 cm2800 Kg/m3–0.0216 Kg 

75 cm.Hg
50 m 1.26 Kg/m3

13600 Kg/m375.46 cm.Hg 

          
36 cm 

   N/m2cm.Hg–atm   
105 N/m21.013   13600 Kg/m3   

9.8 m/s2105 N/m21.5–112 cm.Hg–1.48 atm 
       

  74.3 cm.Hg   75.5 cm.Hg  
1.25 Kg/m313600 Kg/m3 

130.56 m 
76 cm

74.15 cm 200
103 Kg/m313.6

9.8 m/s21.258 Kg/m3 
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 P 
 

30 25 20 15 10 5 h (m) 
4.0 3.5 3.0 2.5 2.0 1.5 P 105 (N/m2) 

      
 

 
10 m/s2105 N/m2–103 Kg/m3 

  P 
 

18 15 12 9 6 3 h (m) 
1.6 1.9 2.2 2.5 2.8 3.1 P 105 (N/m2) 

24 m
 
 

10 m/s2105 N/m2–103 Kg/m3 
h1
h2 

24 Y 18 12 9 6 h1 (cm) 
20 17.5 15 10 X 5 h2 (cm) 

h1
h2 

XY 
1.2–7.5 cm–21 cm 

      
ΔPh 

Y 1024 896 640 512 384 ΔP (N/m2) 
100 80 X 50 40 30 10h (m) 

ΔPh
XY 

1280 N/m2–700 m–1.28 Kg/m3 
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Manometerالمــــانومتر 

  ::استخدامه استخدامه   
  
  

  ::تركيبه تركيبه   
U

––


 

  ::عمله عمله   
AB

 
AB 

∴PB 
P = Pa + ρ g h 

P - Pa = ρ g h 

∴   ΔP = ρ g h 

  :ملحوظات هــامة 
 

       
 

P = Pa - ρ g h 
 

P = Pa 
    m.Hg cm.Hg mm.Hg = Torr

 

P = Pa + h 
 +h


-h 

 
 

B A 

Pa 

h 

B A 

Pa 

 
 

  h 

  



  

الزئبق
          

 

 المـاء


  تطبیقات الضغط

 

 

  :قياس ضغط الهواء داخل إطار السيارات 
 
    
 




 
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فروق الضغط الكبيرة
          



وق الضغط الصغيرةفر


 

تطبیقات الضغط
  :قياس ضغط الدم 

  :نقباضي الاالضغط 


120 mm.Hg 

  :الضغط الانبساطي 


80 mm.Hg 

قياس ضغط الهواء داخل إطار السيارات 


        


 



 

 
          



 



 

قياس ضغط الدم : أولاًً 

الضغط 




الضغط الانبساطي 



 

قياس ضغط الهواء داخل إطار السيارات : ثانياًً 


     
 


 




 
 
 
 
 
 
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  Pascal’s Principleباسکال   هقاعد
  

  :قاعدة باسكال 



 

  ::تطبيقات علي قاعدة باسكال تطبيقات علي قاعدة باسكال   
 
 
 

  المكبــس الهيدروليكي
  ::الغرض منه الغرض منه   

 

  ::تركيبه تركيبه   



a
A 

 

  ::عملة عملة   
 fay1

P 

P = 
f
a
ffff  

 A
Fy2P 

P = 
F
A
fffff   

لقاعدة باسكال طبقاً 

a A 
f F 
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:و يكون  
f
a
ffff = 

F
A
fffff 

:تبعاً لقانون بقاء الطاقة  
 

F y2 = f y1 
 

  ) :η(الفائدة الآلية للمكبس الهيدروليكي  


 
 

η = 
A
a
fffff = 

F
f
ffff = R

2

r 2
ffffffff = 

M
m
fffffff = 

y1

y 2

fffffff = 
v1

v 2

fffffff  
 

  :ملحوظات هــامة 
  

 
 

F
A
fffff= 

f
a
ffff + ρ g h 

 

h 
 ρ 

 1 
  

1 
 

 100%علل 



100% 

  

ηT = η1  η2 
 

 
 

 

 
 

 
 

 

 

 

 

 

 

 

 

h 
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  Archimedes Principleأرشمیدس   هقاعد
  

  :قاعدة أرشميدس 


 

  ::استنتاج قاعدة أرشميدس استنتاج قاعدة أرشميدس   
 

VLA
h 

 



 

  :قوي أفقية ] أ [ 


 
  :قوي رأسية ] ب [ 

  
(Fg)L = ρL g VL       ……………. ( 1 ) 

  
(  ) Fb = ΔP . A 

= ( P1 – P2 ) . A 
= (ρL g h1 – ρL g h2 ) . A 
= ρL g ( h1 – h2 ) . A 
= ρL g h A 

 $  VL = A h 
 #  Fb = ρL g VL       ……………. ( 2 ) 

12 
Fb = (Fg)L = ρL g VL 

 

  :العوامل التي تتوقف عليها قوة الدفع علي جسم مغمور كلياًً أو جزئياًً في سائل  
 ρL 
 VL 
 g 

h1 
h1 – h2  VL 

h2 
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  حالات استقرار الجسم في سائل
 


 
(Fg)S> (Fb) 

ρS>ρLمثل 

  : أثناء الطفو و تكون القوة المحصلة المؤثرة علي الجسم -
FT = Fb - (Fg)S 

 = ρL g VL  ρS g Vs 

FT = (ρL  ρS ) g Vs 

  :ملحوظة هامة 
ρS>ρL



ما يحدث عندمثل 

 


 
(Fg)S(Fb) 

ρSρLمثل 

  :و هو معلق و تكون القوة المحصلة المؤثرة علي الجسم  -
FT = Fb – (Fg)S = 0 

FT = 0 


 
(Fg)S<(Fb) 

ρS<ρLمثل 

  :و هو مغمور و تكون القوة المحصلة المؤثرة علي الجسم  -
FT = (Fg)S - Fb 

= ρS g Vs  ρL g VL 
FT = (ρS  ρL) g Vs 

 

 

 
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  :ملحوظة هامة 



Fb 
 

  :قانون الطفـو 


 

#    Fb = (Fg)s = ρL g VL 
  

  الذي يطفو فيه السائلالعلاقة بين حجم الجزء المغمور من الجسم و كثافة 
ρ1ρ2 

  
  

# 
 

(Fb)1 = (Fb)2 
ρ1 g V1 = ρ2 g V2 
ρ1 V1 = ρ2 V2 
ρ1

ρ2

ffffff = 
V 2

V1

ffffffff = 
h2

h1

fffffff 
  :نستنتج مما سبق أن 

 
 

 
 

ρ1 

h1 V1 

ρ2 

h2 V2 
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  :تعليلات هامة 
عندما تنتقل سفينة محملة بأقصى حمولة من ماء البحر إلي ماء النهـر يجـب    .١

  .تفريغ جزء من حمولتها 
 

               


 

 .النهر السباحة في ماء البحر أسهل منها في ماء  .٢
  


 

 .يغوص مسمار من الحديد في مياه البحر بينما تطفو سفينة ضخمة  .٣
 


 

 

جـم مـن معـادن مختلفـة الكثافـة فـي       حأجسام متساوية العندما تغمر عدة  .٤
 .ي متساوكل منهم يكون النقص في وزن سائل واحد فإن 


 

جسم فوق عدة سوائل مختلفة الكثافة فإن قوة دفع كل نفس الا طفا إذ .٥
 .تكون متساوية منهم 

  
         

 

بزيادة كثافـة السـائل   في سائل لدفع المؤثرة علي جسم مغمور تزداد قوة ا .٦
  .الذي ينغمر فيه 

              
Fb = ρL g VL 

  



  

  لجسمالوزن الحقيقي و الوزن الظاهري 



 

(Fg)s = ρs g Vs 

(Fg)' = (Fg) 

(Fb) 

  قوة الشد في الخيط

 

  )البالونات  (تطبيق قاعدة أرشميدس علي الغازات 

 

         قوة الرفع
FT 

Fb

(F

ms = 

 
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الوزن الحقيقي و الوزن الظاهري   





  : الوزن الحقيقي للجسم
s

  :الوزن الظاهري للجسم 
)S - Fb

)

قوة الشد في الخيط
  :من أسفل إذا كان الجسم مربوطاًً 

FT = Fg - Fb 

  : أعلياًً من قمعلإذا كان الجسم 
FT = Fb – Fg 

 

تطبيق قاعدة أرشميدس علي الغازات    
مثل


         

T = Fb - (Fg)Sالقوة الرافعة

b = ρair g V 

(Fg)S = ms g 

 +   ρgas V  

  a = 
FT

ms

fffffffff 





 

الوزن الحقيقي للجسم


 

الوزن الظاهري للجسم 


 
 

إذا كان الجسم مربوطاًً 

إذا كان الجسم 

 


          
القوة الرافعة
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ms 

m 

hS 

h1 

ms 
m' 

ms 
h2 

h1 

  h' 

  حساب نسبة ما يغمر من الجسم
 

    
 

 V' = 
V L

V S

ffffffff 100 = 
ρS

ρL

ffffff 100 

 

  ب العمق الذي يغوص إليه جسم طافحسا
 
 
 
 
 
 
 
 

عندما يطلب –
––

 
(Fg) = (Fg)L 
M g = mL g 

ms + m = ρL (A hs) 

ρs Vs + m = ρL Vs 
 

 عندما يطلب
(Fg)s' = (Fg)L' 
m' g = mL' g 

m' = ρL (A h') 

عنـــدما يطلـــب  
 

ms + m' = ρL (A h2) 
 

عندما يطلب  
 

(Fg)s = (Fg)L 
ms g = mL g 

ms = ρL (A h1) 

ρs Vs = ρL (A h1) 
 

  من سائلين ا       عندما يلقي جسم دفع
 

 
 

(Fg)s = (Fb)1 + (Fb)2 

ρs g Vs = ρ1 g V1 + ρ2 g V2 

ρs Vs = ρ1 V1 + ρ2 V2            ,     Vs = V1 + V2 

ρs A hs = ρ1 A h1 + ρ2 A h2 

ρs hs = ρ1 h1 + ρ2 h2           ,       hs = h1 + h2 

V2 

V1 

ρ2 

ρ1 

h2 

h1 



  - 116 - 

  الكثافة النسبية لجسم أو سائـــلحساب 
 

(ρs)re = 
ρS

ρw

fffffff = 
ρS g VS

ρw g Vw

fffffffffffffffffffffff = 
Fg

b c
S

Fb

b c
w

fffffffffffffff             ,             (Fb )w = (Fg)s – (Fg)' 

(ρL)re = 
ρL

ρw

fffffff = 
ρL g VL

ρw g Vw

fffffffffffffffffffffff = 
Fb

b c
L

Fb

b c
w

fffffffffffffff             ,             (Fb )L = (Fg)s – (Fg)' 

 

  م التجويف في جسمحساب حج


 
 Vs 

VsVLV
 

VL = V   + Vs 

 : ان الجسم معلقاًً في السائل إذا ك 
(Fg)s = Fb 

ρ s g Vs = ρL g VL 

ρ s Vs = ρL VL 

 :إذا كان الجسم مغموراًً في السائل  
(Fg)' = (Fg)s – Fb 

m' g = ρs g Vs - ρL g VL 

m' =ρs Vs - ρL VL 
 

  ثقل في سائلالغمر  بعدحساب تردد الوتر في تجربة ميلد 

 
υ1

υ2

fffffff = 
FT1

FT2

fffffffffvuut
wwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwww

= 
Fg

b c
S

Fg

b c.
ffffffffffffff

vuuuuut
wwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwww

= 
Fg

b c
S

Fg

b c
S
@ Fb

ffffffffffffffffffffffffffff
vuuuuut
wwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwww

= 
ρS g V S

ρS g V S @ ρL g V S

fffffffffffffffffffffffffffffffffffffffffffffffffvuut
wwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwww

= 
ρS

ρS @ ρL

ffffffffffffffffffffswwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwwww 

 

 

Vs V 

VL 



  

بعض التطبيقات علي الطفو









  
   
   
       

   

        


 
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 بعض التطبيقات علي الطفو
  :تقنية معالجة المرضي بالماء 







 

  :تجارب انعدام الوزن 







 

   :الغواصة 
   

   
   

       
 

  :الغواص 
      

 
        



 
 
 
 

تقنية معالجة المرضي بالماء )  ١( 








 

تجارب انعدام الوزن )  ٢( 








 

الغواصة )  ٣( 
 

   


       
 
 

الغواص )  ٤( 
   

 
        




 
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
2000 Kg
20 m10 m


1030 Kg/m3
9.8 m/s2 

  الحل
Fb =  Fg s        à      Ahρg = mg 

h = 
m
Aρ
ffffffffff = 

10B2000
1030B20B10
ffffffffffffffffffffffffffffffffffffffffffffffffffff = 0.097 m 


0.09 Kg/m3
104 m314
1.29 Kg/m3
105 Kg 
10 m/s2 

  الحل
Fg = Fgs + m g = 10510 + V ρH2 g 

Fg =106 +141040.0910 = 1.126106 N 

Fb = V ρair g = 141041.2510 

Fb =1.806106 N 

F = Fb –Fg = 1.806106 – 1.126106 

F = 6.8105 N 


+4 cm

75 cm.Hg
13600 Kg/m3
1000 Kg/m3 
 

  الحل
ρW hW = ρHg hHg à1000  4 = 13600  hHg 

hHg = 0.294 cm 

P = Pa + h = 75 + 0.294 = 75.294 cm.Hg 


2 cm200 N

24 cm
10 m/s2 

   
  
 

 
  الحل

F
f
fffff = 

A
a
ffffff     à     

M B10
200

ffffffffffffffffffffffff = 
π 1

‘ a2
B10@ 4

π 12
‘ a2

B10@ 4

ffffffffffffffffffffffffffffffffffffffffffffffff  
#   M = 2880 Kg 

η = 
A
a
ffffff = 

π 1
‘ a2

B10@ 4

π 12
‘ a2

B10@ 4

ffffffffffffffffffffffffffffffffffffffffffffffff = 144 

P=
f
a
fffff= 

200
π B1B10@ 4
fffffffffffffffffffffffffffffffffffffffffff = 6.369105 N/m2 

 

10-3 m35
1000 Kg/m30.2





9.8 m/s2 
  الحل

Fb =  Fg s        à      VL ρL g = Vs ρs g 

 
4
5
fffffV ×1000 = V ρs  à  ρs = 800 Kg/m3 

Fb =  Fg s + Fg' 
Vs ρL g = Vs ρs g + Fg' 
5×10-3×1000×9.8 = 5×10-3×800×9.8 + Fg' 

Fg' = 9.8 N 

40 Kg
5000 cm3

0.76
10 m/s2 

  الحل
Fb = V ρ g = 760  500010-6  9.8 

Fb = 37.24 N 
FT = Fg – Fb = 409.8 - 37.24 = 354.76 N 

  أمثلة محلولة علي الدرس
 

  
  

 
 
 
 
 
 
 
 
  

        

        

  

  

  

  

  

  

  

  

  

  
 

 
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          
100 N

2000 N–1000 N–100 N104 N–10 N 
           


              


           
             
 

 8 g/cm32 cm
1 g/cm3

–––
0.008 m3– 

 20 N
5 N25 N–25 N–25 N

–20 N 

 20 N
3 N23 N–
23 N–23 N–20 N 

 
–– 

     100 N    


50 N–75 N–100 N–150 N–200 N 

 –
––

 
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 3
4
fffff4

3
fffff1

4
fffff3

4
fffff 

        


–– 

 1
4
fffff

1
4
fffff3

4
fffff4

3
fffff1 

     –
– 

 VρρL
V

ρL @ ρ
ρL + ρ
fffffffffffffffffffV

ρL @ ρ
ρL

fffffffffffffffffffV
ρ@ρL

ρ
fffffffffffffffffff

V
ρ@ρL

ρL

fffffffffffffffffff 

 VρρL
ρ

V ρL

ffffffffffffffV ρL

ρ
ffffffffffffff

ρL

V ρ
fffffffffffV ρ

ρL

fffffffffff 

        
–– 

 
20 cm30oC

20 cm3–20 cm3
20 cm3– 

 ––– 

  ––
 

 ρw

ρs

fffffffFb

Fg

fffffffFg

Fb

fffffffV s

Vw

fffffffff 

   –
– 
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  : ما معني أن  /السؤال الثاني
 3 atm 
 5 atm 
 120 Torr 
 90 Torr 
 180/100 
 400 
 20 N 
 40 N 
 6000 N 
 10 N 
 50 N 
 1156.4 N 
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  
  
  
  
  
  
  
  
  
  
  
  
 

 
  
                

 



  - 122 - 

  
  
 

 
  
  
  
  
  
  
            

 
       

 
 

 
  
  
  
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  
  
 

 
  
  
  
  
  
  
  
  
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    
 

 
  
  
 

 
 
 
 

 
 

 

  : أذكر العوامل التي يتوقف عليها كل مما يأتي /السؤال الخامس
  
  
  

  :ما النتائج المترتبة علي كل مما يأتي / السؤال السادس
  
  
 100% 
  
  
  
  
  
  
  
  
  
  



  

 
 

        
 

 
 


   

 
  

 
 

5 cm


10 cm 



     

Fb ( N ) 

ρ ( kg/m3 ) 
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  :قارن بين كل من / السؤال السابع



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 
        


 


U 

   

 
  76 cm.Hg  

 
 




cm2

500 cm2
50 N 

 

 
 

 
Fb
ρ 

 
     

 

السؤال السابع
 
 

السؤال الثامن

 
        


 
 

 

    


  

  


 











 



 
       





  

     
      

5 cm.Hg 
5  

 
 
 
 

 
     

       
 

150 K P


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 
      
        

 
  
 5 cm.Hg 
 cm.Hg
  cm.Hg

 


     
    

     
     

 
  
 
 
 
 

 
      

     

       


 
 

150 K Pa

100 K Pa


13600 Kg/m 

 
 
 







 


     
    


     








 
     



       


• 
 




h
13600 Kg/m3



  

 
           

– 
A B 

  
  

 

 

755 mm Hg


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 
     

     


     
      

 
 

            
 


 

 
 


 


 
   

P
h 

 


mm.Hg 


 

 
     

     


     
      


 

 


q 

 
 
 

 
   


C

 
 
 
 
 
 

 
q 


q 





  

 

  

 
N/m 

 
 

        
 

 

N 
 

 

   
 

A
X 
 
 

ρ 

B A 

 

 
  13.6 cm 

X 

Y Z 
A B 
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 
 100 Kg 


        
0.5 m 2

N/m2

N/m2
N

        



 

   F     A
P

P , A , F 
     

    A


B 
 B
 N/m2 
 

 
     

    75 cm.Hg 
 

 
AB

B   X

   1
3
ffff   

XYZ

 



     


 
 
 
       


 

 
    




      
 




 
  

 


 


 
 


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  


 
  
    A B 

 
 

  
    L

A
 

q    
Fb 

L 
q  

  :المسائل  /السؤال التاسع

     
+10 cm  

105 N/m2
9.8 m/s213600 Kg/m3 

0.133 Bar–1.133 Bar 

  0.01 atm  
N/m2cm.Hg13600 Kg/m3

 9.8 m/s210 5 N/m21.013 

1.01 atm–105 N/m21.023–76.76 cm.Hg 
        

25 cm 
 N/m2

13600 Kg/m3g = 9.8 m/s2105 N/m21.013 
105 N/m20.333–105 N/m21.346 

Fb 

L 

(1) 

L 

Fb 

(2) 

L 

Fb 

(3) 
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 10-4 m24 200 N
1200 cm210 m/s2 

 
6000 Kg–300 

      
   650 Kg  

0.1 m215 cm2


0.8f
1000 Kg/m3 

9.8 m/s277.91 N 
           2 cm2

50 cm2          
 

2 cmg = 10 m/s225–400 N–50 cm 
          2 cm

  32 cm       1800 Kg
g = 10 m/s2105 N/m22.238 

 2 cm24 cm
2880 N 

1 cm 
20 N–144 cm 

 270 g900 Kg/m3
  

103 Kg/m30.810-4 m31.5 

  6 cm  
1200 Kg/m3

1000 Kg/m35 cm 

10-5 m31102 Kg/m34
10-3 m2      


10 3 Kg/m31.510-3 m2.667 

650 Kg 

1.5 m 
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160 N120 N
0.83.2 

600 Kg/m3
80 Kg0.2 m3 

40 Kg5000 cm3
760 Kg/m3 
 g = 9.8 m/s2 37.24 N–354.76 N 

10 cm2.7
1000 Kg/m39.8 m/s2

 
  
  
 26.46 N–21.56 N–16.66 N 
250 g

160 g180 g
103 kg/m310 m/s2 

2777.77 Kg/m3–777.77 Kg/m3 

      104 m314  
 0.092 Kg/m3   1.29 kg/m3  
 104 Kg8     
10 m/s2105 N8.772 

 
  540 g    320 g  
2700 Kg/m31000 Kg/m3

10-5 m32 

      0.2 Kg
2 cm

1000 Kg/m310-3 m3 

50 Kg45 Kg 
 

1000 Kg/m3g = 9.8 m/s25 N–10-4 m35.1 
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40 Kg
103 Kg/m3

g = 9.8 m/s2392 N–0.04 m3–Zero 

0.12 Kg7850 Kg/m3
  

103 Kg/m39.8 m/s2 
10-5 m31.528–0.1047 Kg 


2 N1.8 N2.549 N

103 Kg/m39.8 m/s2 
900 Kg/m3–1274.5 Kg/m3 

      
920 Kg/m3

10 Kg103 Kg/m3 
8%78.4 m3 

       20
2000 Kg20 m10 m 

  
  1030 Kg/m3

38.83 m3–0.194 m 
765 g

675 g652.5 g
1000 Kg/m3 

1250 Kg/m3–8500 Kg/m3 

2.5 N
1000 Kg/m38800 Kg/m3 

10-4 m32.55–0.224 Kg 
    15 cm     

2700 Kg/m313600 Kg/m3  
9.8 m/s2 

0.029 m 
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24 N20 N21 N
6–0.75 

0.5 m 2 m 3 m600 Kg/m3
 

 1000 Kg/m3 
 80 Kg 
  

0.3 m–0.313 m–1200 Kg 
720 m2

161100 Kg
 1000Kg/m30.024 m 

60 Kg
1000 Kg/m30.8 m20.5 m 

  
 30 cmg = 9.8 m/s2 
 0.075 m–1764 N3332 N 

10 Kg4 %
62.5 Kg

103 Kg/m33 men 


350 Kg/m330%
75 Kg

950 Kg/m3
1030 Kg/m30.0266 m3 


20 cm

70 Kg103 Kg/m31.75 m2 
24.72 Kg8%

      
70 Kg 1.03

103 Kg/m34 men 
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 1 Kg1.5 m3   
1.3 Kg/m30.092 Kg/m3

9.8 m/s26.99 m/s2 
    1800 Kg 

30 m12 m
      1025 Kg/m3   

9.8 m/s20.0975 m 
 154.4 g    

12 g
19.3g = 9.8 m/s2103 Kg/m310-6 m34 

800 Kg/m3
192 g0.6 cm

10-3 m38 
               

30 cm1100 Kg
103 Kg/m33.667 m2 

0.3 Kg820 Kg/m3


 0.6
1000 Kg/m310-4 m32 

5 g3 g
3.24 g103 Kg/m3 

880 Kg/m3–2500 

   28 cm     12 cm 
8.8 cm 
0.8

1000 Kg/m39.8 m/s20.6 
4000 m30.18 Kg/m3

       1400 Kg    
0.09 Kg/m3

90 Kg4 
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 10 cm 850 Kg/m3
               

800 Kg/m31000 Kg/m310-3 m31.05 
     

20 cm1000 Kg/m3
           

59.8 m/s2 
10-3 m36.4 

0.9
 8 cm 800 Kg/m3 

5 cm
1000 Kg/m3 

35 cm– 7 cm  
2.734 N

1000 Kg/m354  N 
2700 Kg/m30.2 m3

1000 Kg/m31960 N 
0.45 N0.3 N

0.92700 Kg/m3 

10-4 m32
        

  2707 Kg/m3
10 m/s210-4 m31.26 

0.09 Kg/m3
104 m3141.29 Kg/m3

105 Kg
10 m/s2104  N68 

1000 Kg/m3
  3

4
fffff   1

36
fffffffff

3
1
ffff 
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1 cm3
19.3103 Kg/m3 

10-7 m39.5 
            1.5 cm3 

1 g/cm319.3 g/cm3
g = 9.8 m/s2 1.5 g –10-6 m31.42 

850 Kg/m3
50 g5 cm

0.55 N–400 Kg/m3 

4 Kg2.5 Kg
    2.7 g/cm3 1 g/cm3    

10-5  m32 
 0.004 m30.003 m3

0.810 N
 g = 10 m/s22600 Kg/m3 

6000 L4 Kg 
0.09 Kg/m3
1.25 Kg/m39.8 m/s2

6.52 m/s2– 29.6 N  
20 cm 4 cm

10 cm
0.8

1000 Kg/m30.7 

1.5 m23 Kg
4000 Kg/m3

–0.15 cm 

   3
5
ffff       4

5
fffff 

103 Kg/m3 
600 Kg/m3–750 Kg/m3 
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50 cm340 cm3   
           

103 Kg/m3–800 Kg/m3 

    0.6    
900 Kg/m3  0.02 m3  

10 m/s2 
  
 – 
  

180 N–60 N–120 N–10-3 m36.667 

500 Kg1000 Kg1
10
fffffffff–

1
5
ffff103 Kg/m34500 Kg 

 1
2
ffff

2
0.5
ffffffffff 


100 g

         
           

8800 Kg/m3–7500 Kg/m3810 Kg/m3
10 m/s21 g 

0.2 m3400 N
      100 N     

g = 10 m/s2103 Kg/m30.85 

  :الربط مسائل  /السؤال العاشر
 

V2500 Kg/m3
 

25
16
fffffffff900 Kg/m3 
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  
450 Hz


5.71000 Kg/m3409 Hz 
         5000 Kg/m3 

 420 Hz      
1800 Kg/m3336 Hz 

 
   320 Hz         

1000 Kg/m34270 Kg/m3284 Hz 
 

392 Hz
49 Hz4267.9 Kg/m3 

  :البيانية مسائل ال /السؤال الحادي عشر
  

f 10 20 35 50 80 
F 160 320 560 800 1280 

 
  
 60 N 
 5 cm 

16–960 N–20 cm 
 

 
Fb  N 8 9 10 12 Y 16 
ρ  Kg/m3 800 900 X 1200 1400 1600 

  Fb   ρ 
 

 XY 
 10 m/s2 
         10 Kg  

1100 Kg/m31000 Kg/m3–14 N–10-3 m2–89 N 
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         
10 cm2700 Kg/m3
 

F'  N 19 18 17 15 14 Y 
ρ  Kg/m3 800 900 1000 X 1300 1500 

F'ρ
 

 XY 
  
  

1200 Kg/m3–12 N–10 m/s2– 
   2.7 N  

 
F'  N 2.1 1.9 1.7 X 1.3 1.1 
ρ  Kg/m3 600 800 1000 1200 1400 1600 

    Fb       ρ  
 

 X 
  
  
 g = 10 m/s2 

1.5 N–10-4 m3–2700 Kg/m3–2700 Kg/m3 
  
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  الفصل الخامس
 

  المتحركة الموائعخواص 
 Fluid Flowسریان الموائع : أولاً 

  السریان الهادي
Steady Flow 

  بالسریان المضطر
Turbulent flow  

      
 





      

   
  

  ::  خواص السريان الهادئخواص السريان الهادئ  
  
  
 خط الانسياب 

 
  :خط الانسياب 


 

  ::  خواص خطوط الانسيابخواص خطوط الانسياب  
  
  
  
 

 

  



  - 140 - 

  :عند نقطة ) السريان(معدل الانسياب 
 

  ):):الطبقيالطبقيالمستقر أو المستقر أو ((شروط السريان الهادئ شروط السريان الهادئ   
  
  
  
  
 

 

  معدل الإنسیاب
   Qm معدل الانسیاب الکتلی                    QV معدل الانسیاب الحجمی 

 
 

 


 

QV = A v         m3/s Qm = QV ρ = A v ρ         Kg/s 

   لمائع و مساحة مقطع الأنبوبةالعلاقة بين سرعة سريان ا معادلة الاتصال 
 ρ  
 XYA1A2

v1v2 
 A1 

QV =A1 v1 
 A1 

Qm =A1 v1 ρ 
 A2 

QV =A2 v2 
 A2 

Qm =A2 v2 ρ 

A1 

v2 
X 

Y 

A2 

v1 



  

∴   A1 v1



 
A1

A 2

ffffffffv2

v1

fffffff 

 
  


A



A1 v1 = A

 





 

A2 
A1 

v1 

A1 

A2 

A2 

A2 

A2 
v1 

v2 

v2 

v2 
v2 

A1 

v1 

v2 

v3 

v4 

A2 

A3 

A4 
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 
 

∴   A1 v1 ρ = A2 v2 ρ 

1 = A2 v2                
A1

A 2

ffffffff = 
v2

v1

fffffff 

  :معادلة الاتصال و الاستمرار 


 

  :ملحوظات هــامة 


r1
2

r2
2

ffffffffffff

      A1   
  n  

A2 

A1 v1 = n A2 v2 

A1
 

= A2 v2 + A3 v3 + …… 

 :يأتي  علل لما









 

v2 

$
∴

 
معادلة الاتصال و الاستمرار 




 
ملحوظات هــامة 

 

 

q 
  

 


 


 علل لما




 
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  Viscosity  هاللــــزوج: ثانیاً 
 

  :اللزوجة 


 
 

  خاصية اللزوجةخاصية اللزوجةمفهوم مفهوم ح ح ييتوضتوضللتجارب تجارب 
  :ى التجربة الأول

 :خطوات التجربة  
 

 
 

 
:الملاحظة  

 
  :الاستنتاج  

 
        

 
 

  

  :التجربة الثانية 
 :خطوات التجربة  
  
  

:الملاحظة  
 

  :الاستنتاج  

           


 
 

 جليسرين كحول

 عسل كحول
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  :التجربة الثالثة 
 :خطوات التجربة  
  
  

:الملاحظة  
 

    :الاستنتاج   

  ::تفسير خاصية اللزوجة و تعيين معامل اللزوجة تفسير خاصية اللزوجة و تعيين معامل اللزوجة 
 

v 
 

v
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 
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  :لترسيب في الدم سرعة ا قياس)  ٣( 


15 mm/hr
 

  الحمـي الروماتزميـة رومـاتيزم القلـب النقـرس
تزداد سرعة الترسيب 

 فقر الدم الأنيميـا اليرقـان
 ترسيبالسرعة تقل 
q  

 

  :ترسيب الدم  سرعة


mm/hr 
 

 
  علاقات بيانية هــامة

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

Slope = 
V
t
ffffff = QV 

V 

t 
Slope = A

1
v
fffffffffff = Av =QV 

A 

1
v
fffff  

Slope = 
Q m

Q V

ffffffffff = ρ 

Qm 

QV 

Slope = 
Q V

1
ρ
ffffffffffffff = QV ρ = Qm 

Qv 

1
ρ
ffff  

Slope = 
F
v
fffff = ηvs 

A
d
ffffff 

F 

v 
Slope = 

Q m

ρ
ffffffffff = QV 

Qm 
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8 cm
0.8 Kg/m.s 

 0.5 m22 m/s
2 cm 

  
  الحل

F1 = ηvs 
A v
d1

fffffffffff = 0.8  
0.5B2

2B10@ 2
fffffffffffffffffffffffffffff = 40 N 

F2 = ηvs 
A v
d2

fffffffffff = 0.8  
0.5B2

6B10@ 2
fffffffffffffffffffffffffffff = 13.33 N 

F = F1 + F2 = 40 + 13.33 = 53.33 N 

 

10 cm
2.5 cm
1 m/s


1000 Kg/m3 

  الحل
A1v1 = A2v2  
π r12 v1 = π r22 v2  
1.252  v2 = 52 × 1 
v2 = 16 m/s 
m = Qm.t = Avρt 

= 3.145210-41601000 
=471 Kg/min 

0.5 cm 
0.4 m

0.2 cm
0.25 m/s
   

  الحل
A1v1 = n A2v2  
π r12 v1 = n π r22 v2  

n = 
π r1

2 v 1

π r2
2 v 2

fffffffffffffffffffffff = 
0.5B10@ 2

b c2

B0.4
0.2B10@ 2

b c2

B0.25

fffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffff 
 = 10    

 

  أمثلة محلولة علي الدرس
 

  
 
 
 
 
 
 
 
 
 
  

  

        

  

  

  

  

  

  

  

  

  
 

 
 

  
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 
  :تخير الإجابة الصحيحة من بين الأقواس  /الأولالسؤال 

         


 
         

            
 

 
        

 
         Kg.m.s-1–Kg.m-1.s-1 

Kg.m-1.s–Kg.m/s2 
 Pascal.s

 
 N.s.m-1

 
        

         
 

          
 

 
 

 m3/sKgKg/s
–m3 
 4 m/s1.4 cm

10-6 m3/s6.16 10-4 m3/s6.16 10-5 m3/s6.16 
0.0086 m3/s 
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 
–––– 

  
–––
– 

          –  –
  

             
  

     
 

 – 

  
 

          – –
– 

           –
–– 

 
––– 

 
–

– 

 
–– 

   
 

 –– 
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  : ما معني أن  /ل الثانيالسؤا
 0.5 Kg/s 
 2 Liter/s 
 0.04 N.s.m-2 
 15 mm/hr 

  : علل لما يأتي /السؤال الثالث
  
  
  
 

 
  
  
  
  
 

 
  
  
  
  
  
  
  
  
  

  :أذكر المصطلح العلمي لمفهوم العبارات التالية  /السؤال الرابع
            

 
  
  
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 
 

 
 

 
 

  

  : مما يأتي أذكر العوامل التي يتوقف عليها كل /السؤال الخامس
  
  
  
  

  :ما النتائج المترتبة علي كل مما يأتي / السؤال السادس
  
  
  
  
  
  
  
  
  
  

  :قارن بين كل من / السؤال السابع
 – 
 ––

 
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  : المسائل/ السؤال الثامن
 1.5 cm0.2 m/s

 0.5 cm 
1.8 m/s–10-3 m39.5 

 A25 cm
  D 15 cm B 10 cm

C8 cm 
 AA2 m/s 
 CDB4 m/s 

0.3927 m3–13.3 m/s–5.56 m/s 
 0.5 cm1000.1 cm

0.04 m/s 
0.0025 m/s 

 1 cm4 m/s
24 m/s0.408 cm 

  2 cm5 m/s 
20 m3 

10-4 m3/s15.7–12738.85 s 
           0.7 cm 

0.33 m/s30
0.35 cm0.044 m/s 

     14 cm  
1 cm  3 cm/s

0.015 cm/s 

      200 L/min  2.5 cm
15 m 

  
 1.698 m/s490 watt 

   3 cm 2 m/s   
0.0848 m3 

A D 

B 

C 
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    18 L   
3 m/s10-4 m2 

     2.5 m/s   4 cm
10-3 m3/s3.1 

 6 L/min
4 m/s10-4 m20.25 

 5 m
2.5 m3/hr0.35 m/s 

   
4.427 m/s

10-3 m3/s8.72.5 cm 

  12 cm210 m/s 
4 cm230 m/s 

 5 cm0.54 m/s
3 cm1.5 m/s 

4 cm210 m/s
1 mm2 

40 m/s 
          

40 min
423.6 s 

 104 m242 m/s
     10-4 m22 

4 m/s 

 80 0.1 mm  
0.035 cm0.044 m/s
10-3 m/s6.7 

 v m/sr cm
cmr

4
fffff64 v m/s 
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   10 cm2      
1 mm20 g.cm-1.s-1

1 cm/s0.02 N 

2.5 cm
0.785 Kg.m-1.s-10.75 m2

0.5 m/s 
  
 1 cm47.1 N–49 N 
 0.01 m2

 2 mm   2.5 N   
12.5 cm/s4 N.s/m2 




 

v  m/s X 20 25 30 40 50 

 
1
A
fffff  m-2 5 10 12.5 Y 20 25 

v1
A
fffff

 
 XY 
 10 m/s–15 m-2–120 m3 
 

 
 
 


